
L.6 

LAMPIRAN 6 

ELASISITAS KAPASITAS FISKAL DAN PDRB TERHADAP TINGKAT 

KEMISKINAN KABUPATEN/KOTA DI PROVINSI LAMPUNG 

 

Poorit =α0 + α1 Kapfiskali (t-1) + α2 PDRBi (t-1) + eit 

 

Yit     =α0 + α1 X1 i (t-1) + α2 X2 i (t-1) + eit 
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            =     - 0,0408 x 

    

        
              

                             =     - 0,0408 x 0,0444     

                                  =   - 0,002 ( Inelastis) 

 

  

   
   α2 . 

  

 
            =     - 0,0030 x 

     

        
              

                             =     - 0,0030 x 0,373     

                                  =   - 0,001 ( Inelastis) 

 

Keterangan : 

  > 1 = Elastis 

  < 1 = Inelastis 

  = 1 = Elastis Uniter 

  = ~ = Elastis Sempurna 

  = 0 = Inelastis Sempurna 
 


